7,

Fxneice &

4) A:(’f,'{) , Us [Z,—'f) ,Lr:(f,)))
{- {(x,g,g,)fﬁg 7 f’yv tpw :O}

D (000 ¢5 dme (44

i) (t,yg}ff = xu tyvrtyw:=0
(g y) € = xu tyr =0 b thxTuct (gt hy') et eyl -
! A€ R = Mty tlw )0
{ doc (g, )+ Ay g )€ € doe S ab n sy espace vecditiel de R

D xn tyvtpw =0 5 x(41) +3(2,-4) +3,(4,?):(0,03;O
{x+22, by =0 L {;“LZ}W:O L,
{ x -y +3y =0 L, = -3y +24 -0 Lyel,-L,

5 miable B
.2
X T e~
s 4 _ -3 2
{y—ig I {(~’3'4)3 AL
T2
E /%7»4/,\3/»}*:{2/ *ﬁ-/‘:—lwvch,»% ’,1;:3;: 4 = :’;; @jéﬁg‘ R
.47 .?_ ‘2 : “‘O 2 = z "Z'



